Manuals+ — User Manuals Simplified.

FORMD TI

FORMD T1
Reference V2.0
Want Some More
Photos

FORMD T1 Reference V2.0 Want Some More Photos
Instruction Manual

Home » FORMD » FORMD T1 Reference V2.0 Want Some More Photos Instruction Manual -

Contents
1 FORMD T1 Reference V2.0 Want Some More
Photos
2 Product Usage Instructions
3 Assembly Manual
4 TOOLS
5 Documents / Resources
5.1 References
6 Related Posts

FORMAD 1

FORMD T1 Reference V2.0 Want Some More Photos


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/formd
https://manuals.plus/formd/t1-reference-v2-0-want-some-more-photos-manual.pdf
https://manuals.plus/#formd_t1_reference_v20_want_some_more_photos
https://manuals.plus/#product_usage_instructions
https://manuals.plus/#assembly_manual
https://manuals.plus/#tools
https://manuals.plus/#documents_resources
https://manuals.plus/#references
https://manuals.plus/#related_posts

Product Specifications

« Model: T1 REF V2.0

o Manufacturer: FormDT1.com

« Fasteners Included: M3 Thumbscrew, M3 Flat Head Screw, M3 Countersunk Screw, M3 Standoff, M3 Female
Standoff, CSM3-5, CSM3-8

Product Usage Instructions
Assembly

1. Lay out all the components included in the package on a clean, flat surface.

2. ldentify the various panels and fasteners according to the manual.

3. Assemble the side panels, top/bottom panels, rear panel, and front panel according to the provided
instructions.

4. Use the appropriate fasteners for each component and ensure not to overtighten the screws.

Installation of Components

1. Install the SFX PSU Bracket using the provided screws.
2. Attach the Case Feet to the bottom panel of the case.
3. Secure the C13-C14 Inlet Cable to the side panels.

4. Install the Fan Bracket and Lock Bar as per the manual.

Power Button and Fan Installation
1. Mount the Power Button on the front panel of the case.
2. Attach the Fan Bracket to the designated area inside the case.

3. Ensure all components are securely fastened but not over tightened.

Frequently Asked Questions (FAQ)


http://formdt1.com

Q: What should | do if | encounter resistance while tightening the screws?
A: Do not tighten more than one-quarter turn once resistance is encountered. Each fastener is different, so be

cautious not to over tighten.
—y
Rear Panel Front Panel
Side Strut

Reference V2.0
Assembly Manual

T1 REF V2.0

Top/Bottomn Panel x2

L

-rr
: Power Button Fan Bracket Lock Bar Fan Bracket
Side Panel x2 SFX PSU Bracket
waw ° °
L "> o
C13-C14 Inlet Cable Case Feet
T1 REF V2.0

CAUTION: do NOT overtighten the screws. Once resistance is encountered, do not tighten more than one-quarter
turn. Each fastener is different in length or head shape, and putting them to each other is an excellent way to
identify them.

* The screw pack is intented for standard T1 (Sandwich).

FormDT1.com

TOOLS


http://formdt1.com

P §

M3 Thumbscrew M3 Flat Head Screw M3 Countersunk Scew M3 Countersunk Screw
(THUMB-6) (M3-4) (CSM3-5) (CSM3-8)

e

M3 Standoff M3 Female Standoff
(STANDOFF-5) (STANDOFF-F6, for motherboard only)
Fasteners

M3-4 x6 STANDOFF-F6 x4

Fasteners: M3-4 x4



Fasteners: CSM3-5 x2

=1
S
I

R

Fasteners:

M3-4 x4

#6-32 x4

* #6-32 used for the power supply installation is not included



Fasteners: CSM3-8 x2

il

Al

Fasteners: M3-4 x2



Fasteners:

o M3-4 x1
« CSM3-5x3
« CSM3-8 x3

Fasteners: CSM3-5 x4

LY

VA

m|£mM 3%
Lt % '-

'ill.“;;':."ﬁ

'k \‘h
:, \*&'\\\w

| u

i \
|| |||
|I||I|I||I|I||
||||I||I|I|||||
| | | Il




Yy Y

=

< =




Documents / Resources

FORMD T1 Reference V2.0 Want Some More Photos [pdf] Instruction Manual
FoRmo T T1 Reference V2.0 Want Some More Photos, T1 Reference, V2.0 Want Some More Photos, So
me More Photos, More Photos, Photos

References

« F FormD T1 - 9.95L Premium SFF Solution

« User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


https://manuals.plus/m/434e0b4755977d584133c80cb81dd4408f9521b6f663c3f8b1a8aa0d1624497c
https://manuals.plus/m/434e0b4755977d584133c80cb81dd4408f9521b6f663c3f8b1a8aa0d1624497c_optim.pdf
http://formdt1.com
https://manual.tools/?p=13808735#MTA0LjI4LjIwMi4xNzg7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	FORMD T1 Reference V2.0 Want Some More Photos Instruction Manual
	FORMD T1 Reference V2.0 Want Some More Photos
	Product Usage Instructions
	Assembly Manual
	TOOLS
	Documents / Resources
	References



